PROPERTY SIDE 12

NOTES

1.

2

1}

13

Z
7,

=
Zi
Z=
=

ROAD SIDE _==

=
=
=
=
==
—

-~
=

Z
Z
Z =
z =
oS
—
>

|
| |
| |
| I ‘\
I i
| | 1]
| dn 5
| | 7
& e
I 7 = —
N | NEUTRAL BOND
| |
| | NEUTRAL BOND
| |
|/ |
L ) ISOMETRIC VIEW
it . A
@ : I: \d \;/ 1:20
| | 19 |- 1 [M16 GALV. STEEL SPRING WASHER M4322 S01-01-04-43
: } ,\ 18 | 2 [M16 65x65mm GALV STEEL SQUARE WASHER 298695 S01-01-04-38
/\/ 17 | 1 |M16x60 GALV STEEL 4 6 BOLT C/W NUT 500875 S01-01-0L-43
V 16 | 2 |M24 GALV STEEL WASHER 113993 S01-01-04-43
> 15 | 1 |M24Lx65 GALV STEEL 46 BOLT C/W NUT 100800 S01-01-0L-43
m FRONT ELEVATION 1 | 1 [100A SERVICE FUSE ASSEMBLY MOUNTING BRACKET 106802 S01-01-04-49
-/ 1 13 | 1 |TAPERED STEEL OUTREACH A/R $03-01-01-10
NEUTRAL TO BE BONDED ON EVERY POLE. 12 1 |OUTREACH MOUNTING BRACKET 401396 S03-01-03-12
1 | 1 |[CROSSARM BRACE 298687 S01-01-04-38
COPPER NEUTRAL BOND TO BE FITTED BELOW ALUMINIUM CONDUCTORS 10 | 1 |LV-SERVICE CROSSARM 100x50x4 DURAGAL CC 298554 S01-01-02-11
FOR CORRECT APPLICATION OF HOOK BOLTS REFER DRG. S04-02-02-02 FOR 9 | 1 [CONNECTOR, PIERCING 150-50/35-6 sqgmm 415586 904-01-02-15
FULL DETAILS 8 | 1 |100A SERVICE FUSE BASE WITH FUSE HOLDER 261109 S01-01-04-49
- 9 1-01-07-
ALL LIGHT FITTINGS TO BE EARTHED VIA CONNECTION TO NEUTRAL BOND: ! 2xIc 6 sqmm CU LV ABC 202856 201-01-07-03
6 | 1 |M12LUG COMPRESSION 35 sq.mm 156240 $02-01-02-11
14 mm HOLE FOR COMPRESSION LUG TO<BE DRILLED ON SITE. 5 | - [CABLE CuPVC 35 sqmm BLACK 107083 $02-01-01-35
EXAMPLE SHOWN FOR 15m QUTREACH OTHER OUTREACH TYPES PERMITTED AS PER $03-01-01-10 t | 3 [CONNECTOR, PIERCING 95-16/6-15 sqmm 198382 200 01-02-1
—_— 3 | - [CABLE LV ABC, & x 95 sqmm 197665 S04-01-01-01
REFER TO S01-01-04-49 FOR FUSE SELECTION. 20 |, [CLAMP SUSPENSION & x 95 sqmm 197681 S04-01-02-10
2a CLAMP SUSPENSION ROLLER COMBINATION & x 95 sqmm | 198408 S04-01-02-10
197731
1 HOOK BOLT M16 NON-BREAKAWAY ASSEMBLY 213876 S04-01-02-07
3160
ITEM|QTY DESCRIPTION ITEM NUMBER DRG No
MATERIAL SCHEDULE
DES - POWER STANDARD DRAWING
DRN AS ASSEMBLIES
L | SUPERSEDED T0 S04-02-01-30. AN. SEP'21 AN. B.V. ’ CKD R.C. I§¥R-EEATBE_|-GETOILTOENDG COOUNTNREECATCI?"NS
3 | UPDATED LUMINAIRE CABLING & FUSE ARRANGEMENT. ADDED ISOMETRIC VIEW, ITEMS] CC MAY'21 |AN B.V APPD MB
14,15 16, 17, 18 & 19 UPDATED ITEM 1a, 2a, 4, 5. 6, 8, 9, 11, 12 & 13 INFORMATION INTERMEDIATE SUSPENSION
2 | UPDATED ITEM 9, REMOVED OBSOLETE ITEM 28 AN [aPr21 [ccc |BC Ower a er SCALE 120
1 | TITLEBLOCK & DRAWING NUMBERS FORMATTED K.T JAN'19 CcC Ccc ISSUED APR02
0 | ISSUED FOR CONSTRUCTION As |apro2 [RC |MB A3 DRAWING S01-02-01-45
NO DESCRIPTION DRN | DATE | CKD | APPD NORTHERN TERRITORY ALL DIM. IN mm NUMBER L
AMENDMENTS DRAFTING STANDARD TO A S.1100 CAD PRODUCT - DO NOT AMEND MANUALLY AMDT



https://www.powerwater.com.au/standard-drawings/S04-02-02-02
https://www.powerwater.com.au/standard-drawings/S03-01-01-10
https://www.powerwater.com.au/standard-drawings/S01-01-04-49
https://www.powerwater.com.au/standard-drawings/S04-02-01-30
https://www.powerwater.com.au/standard-drawings/S01-01-04-43
https://www.powerwater.com.au/standard-drawings/S01-01-04-38
https://www.powerwater.com.au/standard-drawings/S01-01-04-43
https://www.powerwater.com.au/standard-drawings/S01-01-04-43
https://www.powerwater.com.au/standard-drawings/S01-01-04-43
https://www.powerwater.com.au/standard-drawings/S01-01-04-49
https://www.powerwater.com.au/standard-drawings/S03-01-01-10
https://www.powerwater.com.au/standard-drawings/S03-01-03-12
https://www.powerwater.com.au/standard-drawings/S01-01-04-38
https://www.powerwater.com.au/standard-drawings/S01-01-02-11
https://www.powerwater.com.au/standard-drawings/S04-01-02-15
https://www.powerwater.com.au/standard-drawings/S01-01-04-49
https://www.powerwater.com.au/standard-drawings/S01-01-07-03
https://www.powerwater.com.au/standard-drawings/S02-01-02-11
https://www.powerwater.com.au/standard-drawings/S02-01-01-35
https://www.powerwater.com.au/standard-drawings/S04-01-02-15
https://www.powerwater.com.au/standard-drawings/S04-01-01-01
https://www.powerwater.com.au/standard-drawings/S04-01-02-10
https://www.powerwater.com.au/standard-drawings/S04-01-02-10
https://www.powerwater.com.au/standard-drawings/S04-01-02-07
https://www.powerwater.com.au/standard-drawings/S01-02-01-45
https://www.powerwater.com.au

